2 A mIRHDPEFER

mAENEDIKE 8:10~8:20

2/6 (K 2,/13 (K) 2,/20 (K) 2,/27 (K)
7 5 7 8 7 5 | 7 = 454
REDBIIZE

752 B 3 752 B 3 752 B 3 752 B 3
1—1 S N 1—1 OF % 1—1 = W 1—1 iic)s]
1—2 5z = 1—-2 S N 1—-2 g % 1—-2 iic)s]
1—3 FE 1—3 5 =E 1—3 S 5 1—3 Hhig D73
2—1 o 8 2—1 FEW 2—1 S 2—1 i D73
2—2 5 M 2—2 b 8B 2—2 FEW 2—2 i D3
2—3 X I 2—3 s M 2—3 b B 2—3 B £
AYARGES 8 H# HHDE x W HhvpE = M AYARGES ICYs]
1.02.3 1+2+3 1+02.3 ! -2.3

3—1 ' 3—1 3—1 ' 3—1 5 =
3—2 3—2 3—2 3—2 b 8
3—3 3—3 3—3 3—3 05
3—4 3—4 3—4 O T = 3—4 £ %
4 —1 4 —1 4 —A 5—2MEEZS8 4—A

4—2 4—2 4—2 5—-3MEEZS 4—2

4—3 4—3 4—3 4—3 FEH
4—4 4—4 4—4 5—1NEEZS 4—4 x W
5—1 5—1 5—1 5—1

5—2 5—2 5—2 5—2

5—3 5—3 5—3 5—3

6—1 W K 6—1 B/ @ 6—1 X x 6—1 & ™
6—2 x W 6—2 NN 6—2 s H 6—2 K X
6—3 £ % 6—3 x W 6—3 NN 6—3 2 H

*BETRESNDIH

=IES

KBUSBENWLET,

[ «HHEHNEEEHDRSETCVELEEELE. HBESNBNBSR. DN oEBATERIEE,
KHERRSNFEUCOEHAPEDLEZIDISADATRITBEILS N, T E,
2, (5« 6FEDMRSY T« PDRHIE. BAULBRSTAXKRTT.)
DHDRE, BOHICHEBIIZSU,
*2/273. HEZET8HBF¥NSOKEI THABMNMEBEZTNWIIT., BROHDIHIE. BIF. #HSHNE0).,
XEBEHI RE@DEEHZHMNABIZSN,
k%@mﬁMMTMéHHF9A—93—®N7@hj@ﬁK@ﬁ%%@ﬁéﬁ@Mbigo

1EILUAIL—AT, AOBRIZFTLALTL

N




